PROJECT:	MILL AND RESURFACE
PROJECT DESCRIPTION: MILL AND RESURFACE DEER RUN VILLAGE ROADW PAVEMENT MARKINGS	'AYS WITH ASSOCIATED RESTRPE OF
SPEC YEAR:	2023
SUBMITTAL TYPE:	Engineers Estimate (Other)
COUNTY:	Pasco
DATE:	December 18th, 2023
ENGINEERING CONSULTANT FIRM:	BDi
CONTACT NAME:	Robert Dvorak & Jerry Whited
PHONE NUMBER:	(813) 361-1466
PAGE NUMBER:	1

COMPONENT GROUPS			
Forest Glen Drive			\$81,997
Eagle Station Drive			\$70,045
Stetson Place			\$80,449
Allegro Place			\$127,870
	COMPO	NENT SUB-TOTAL	\$360,360
	MOT (Maintenance of Traffic)	5%	\$18,018
	·	SUB-TOTAL	\$378,378
	MOB (Mobilization)	5%	\$18,018
		SUB-TOTAL	\$396,396
	PU (Project Unknowns)	5%	\$18,018
		SUB-TOTAL	\$414,414
	Public Works Estimation	10%	\$36,036
		SUB-TOTAL	\$450,450
	Engineering, Inspections & Administration	5%	\$18,018
		SUB-TOTAL	\$468,468
	Initial Contingency (Do Not Bid)	5%	\$18,018

NOTES:		

PROJECT:	MILL AND RESURFACE
FILE VERSION:	EE_03-15_Rev23
PAGE NUMBER:	-2

Forest Glen Drive

PAY ITEM #	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
0327 70 6	MILLING EXIST ASPH PAVT, 1 1/2" AVG DEPTH	SY	3593	\$8.00	\$28,744.00
0334 1 12	SUPERPAVE ASPHALTIC CONC, TRAFFIC B	TN	303	\$175.00	\$53,052.89
0711 11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	40	\$5.00	\$200.00
071111123			10	\$5.00	7200.00
		<u> </u>			
				I	
		<u>'</u>		<u>'</u>	
				'	
				T.	
		<u>'</u>		<u>'</u>	
	<u></u>	<u> </u>			·
			1	1	
			I		<u> </u>
				1	
Forest Glen I	Drive		COMPONENT	TOTAL	\$81,996.89
i orest diell i			COMM CIVER	IVIAL	701,730.03

PROJECT:	MILL AND RESURFACE
FILE VERSION:	EE_03-15_Rev23
PAGE NUMBER:	-3

Eagle Station Drive

PAY ITEM #	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
	MILLING EXIST ASPH PAVT, 1 1/2" AVG DEPTH	SY	3068	\$8.00	\$24,544.00
0334 1 12	SUPERPAVE ASPHALTIC CONC, TRAFFIC B	TN	259	\$175.00	\$45,300.94
0711 11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	40	\$5.00	\$200.00
071111125				75.00	Ş200.00
				<u> </u>	
		1		!	
				l	
		1		!	
		1			
				l	
				<u> </u>	
		1		1	
				<u> </u>	
		1		!	
		1		!	
		1		1	
				<u>'</u>	
				<u>'</u>	
		•			
		<u> </u>			
		•			
		•			
		•			
Fagla Ctation	Drive		COMPONENT	TOTAL	670.044.04
Eagle Station	Drive		COMPONENT	IUIAL	\$70,044.94

PROJECT:	MILL AND RESURFACE
FILE VERSION:	EE_03-15_Rev23
PAGE NUMBER:	-4

Stetson Drive

PAY ITEM #	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
0327 70 6	MILLING EXIST ASPH PAVT, 1 1/2" AVG DEPTH	SY	3525	\$8.00	\$28,200.00
0334 1 12	SUPERPAVE ASPHALTIC CONC, TRAFFIC B	TN	297	\$175.00	\$52,048.83
0711 11125	SUPERPAVE ASPHALTIC CONC, TRAFFIC B THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	40	\$5.00	\$200.00
				·	-
Stateon Driv	^		COMPONENT	TOTAL	\$90 449 93
Stetson Driv	<u> </u>	<u> </u>	COIVIPONENT	IUIAL	\$80,448.83

PROJECT:	MILL AND RESURFACE
FILE VERSION:	EE_03-15_Rev23
PAGE NUMBER:	-5

Allegro Drive

PAY ITEM #	ITEM DESCRIPTION	UNIT	QUANTITY	UNIT COST	TOTAL COST
	MILLING EXIST ASPH PAVT, 1 1/2" AVG DEPTH	SY	5608	\$8.00	\$44,864.00
0334 1 12	SUPERPAVE ASPHALTIC CONC, TRAFFIC B	TN	473	\$175.00	\$82,805.63
0711 11125	THERMOPLASTIC, STANDARD, WHITE, SOLID, 24" FOR STOP LINE AND CROSSWALK	LF	40	\$5.00	\$200.00
0711 11123			10	\$5.00	7200.00
		<u> </u>			
		<u> </u>			
		T			
		1			
		<u> </u>		I	
		<u></u>			
				<u> </u>	
		1			
		T			
		T			
		1			
		T			
		<u></u>			
		<u> </u>			
·					
				•	
	, 	1			·
		I			
	<u> </u>	1	1	1	<u> </u>
		T			
Allegro Drive	1		COMPONENT	TOTAL	\$127,869.63
5 51110					, ,